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= 1,000 910 %
2 1,000 910 %0
14 JIEH2 A2 2,000 1,820 180
OMBISIAIE SAR AHEEE X
10,00024+2002S 2,000 1,820 180
= 1,000 910 %
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ALY ABAI 1,000 0 1,000
301 LptpEZ 1,000 0 1,000
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2 120,398 119,93 462
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= 4,241 4,230 11
2 13,870 13,870 0
307 SI2H0IH 8,411 8,400 11
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2 5,880 5,880 0
YIEEYOVSEES 3,911 3,900 11
OFE HESA X 3.911 3,900 11
= 1,181 1,170 1
= 2,730 2,730 0
M3 S8 NAZAEE tY HUlA X2 3.784 2,800 924
=2 1,82 1,430 462
2 1,89 1,430 462
307 £12H0| A 3,784 2,860 94
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AR 2,523,918 2,535,341 11,423
= 2,108,639 2,118,037 29,398
sy 21,49% 21,4% 0
< 107,041 108,108 1,067
= 286,743 287,701 A958
XNEiedye 29 340,335 347,971 AT,636
= 238,235 243,580 Ab,345
(o= 34,04 34,797 AT63
= 68,066 69,594 21,528
307 QI2t01™ 340,335 347,971 NT7,636
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< 350 437 NB7
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= 1,240 1,117 123
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L= 116,734 107,169 9,565
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i 256,381 248,905 7,476
307 212t01 & 312,660 303,543 9,117
= 56,279 54,638 1,641
= 256,381 248,905 7,476
10 Al SEXAEHE2EHIEX 312,660 303,543 9,117
OXOHe!I HATHEAS 2 KIA(1HL) 312,660 303,543 9,117
= 56,279 54,638 1,641
= 256,381 248,905 7,476
ZOHC! OI=ZAIE BALA EEH 33,480 31,320 2,160
= 10,044 9,3% 648
= 23,436 21,924 1,512
307 QI2H0| A 33,480 31,320 2,160
= 10,044 9,3% 648
= 23,436 21,924 1,512
AR =SXAIEE X 33,480 31,320 2,160
OZOHQ! OIZAIE SALL S8 33,480 31,320 2,160
—F2UABSAIE (200 2)
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i 10,584 9,072 1,512
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OLAIL ot ate| =2
180,000 12& 2,160 0 2,160
Os2I| HIIBAM =2
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01 2= 111,071 108,676 2,3%
OARRt2IZ22+2 FHZ(209) 27,297 26,876 421
—6=2 12,5313 +7S*10A12H+ 123 10,527 11,829 A 1,302
—72 11,3192 «8Z *10A1 2+ 123 10,867 9,350 1,517
—82 10, 1622 x2& *10A1 2+ 123 2,439 2,39 40
—9= 9,620 x3*10A 2+ 123 3,464 3,298 166
Ozxu=z2=g
10,9082 x202 +32A| 2« 122 83,774 81,800 1,974
Jl=&sl 90,707 89,673 1,034
Jl23Hl 90,707 89,673 1,034
201 Zet=E] 53,267 52,233 1,034
01 Al2teldl 41,287 40,253 1,034
OgEt==ZH| SUA & 19,653 19,819 A166
OFz € SX3Y AY 882 Mx
60,0002 *207H A 1,200 0 1,200
HRES (A= Xt) 1,766,680 901,994 864,686
WRHeHXIE 901,513 901,994 N481
et HEs 901,513 901,994 N481
701 JIEtRI NS EHES 901,513 901,994 N481
o1 et HEES 901,513 901,99 N481
O2degil==2d SEH d&s 901,513 901,9% A481
RSP 865, 167 0 865, 167
= ZHIEZXS gEs 865, 167 0 865, 167
802 Btet=JIEt 865, 167 0 865, 167
01 =NEXSEES 756, 183 0 756,188
2021 5,040 0 5,040
— 2= Syl 5,039 0 5,039
—NMASHH A X BAH X 1 0 1
O2022F 751,148 0 751,148
—2=SX A 8 0 8
—Atddl2tel 241 0 241
— 2= iyl 2,758 0 2,758
—Z 2= =HHHI(0IXt) 51 0 51
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